Homework

| Activity 1| )

Select the 100-square grid that matches the problem.
1. 0.8-09=0.72
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| Activity 2| )

Select the problem that goes with each of the 100-square grids shown below.

1. 2.
(a) 0.8-0.2=0.16 (a) 0.04-0.2=0.008
(b) 0.08-0.2=0.016 (b) 0.40-0.20=0.08
(c) 0.80-0.02=0.016 (c) 0.4-0.2=0.08
3. 4
TSI,
VN
1T T
4TI UL,
NN 7/ Y/ V,
(a) 0.25-0.2 =0.050 (a) 0.1.0.3=0.03
(b) 0.05-0.05=0.0025 (b) 0.1.0.03=0.003
(c) 0.5-0.5=0.25 (c) 0.01.0.03=0.0003

Copyright 2010 by Cambium Learning Sopris West®. All rights reserved. Permission is granted to reproduce this page for student use. Unit 1 ¢ Lesson 11 83



84

Lesson 11

Homework

Tell if the following scatter plots show a direct relationship. Explain

your answer.

Model Is this a direct relationship?

Answer: No, it's not a direct " ‘gg [ I i ) I
relationship. The amount | £ 60
(%}
of snow that falls does Y 40
not relate to the = 20
0
test scores. 0 1 2 3 45 6 7
Inches of Snow
1. Isthis a direct relationship? 2. Isthis adirect relationship?
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Points Scored Driving Speed
Activity 4 « Distributed Practice ]
Solve.
1.1 2 _1 1.3
L og+3 2. 3779 3. %2
3.4 11 5.1
4. 7+ % 5 3% 6. 379
7. 1.23+2.47 8. 10.01 -89 9. 3.7+8.02+299
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